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/e+?/

« /e+/ D lazy ik
« REILATIE [:plus_lazy, e]

« matchstr([:plus_lazy, [:lit, "a"]], "aaaaa")

#=> [‘I I213I4l5]



/e{m,n}?/

« /e{m,n}/ D lazy kR
« MIRESXATIL [:times_lazy, e, m, n]

« matchstr([:times_lazy, [:lit, "a"], 2, 4], "aaaaa")

t=>[2,3,4]



/e+?/ DEEX (1)

def try(exp, seq, pos, &block)

s lazy
= exp
lazy(e, seq, pos, &

end



/e+?/ DEEX (2)

_lazy(e, seq, pos,
€q, pos) {|pos2|
rep_lazy(e, seq, pos2, &block




try_plus & D LB

def try_plus_lazy(e, seq, pos, &block)
try(e, seq, pos) {|pos2|

<ry_rep_lag>(e, seq, pos2, &block)
}

end
def try_plus(e, seq, pos, &block)
try(e, seq, pos) {|pos2|

't (e, seq, pos2, &block)

} 18] try THINL7=1.
end LT Ay RASGED




/e{m,n}?/ DEZ (1)

def try(exp, seq, pos, &block)

es_lazy
, N =exp
_lazy(e, m, n, seq, po

end



/e{m,n}?/ D= (2)

azy(e, m, n, seq, po
fm<=0

(€, seq, pos) {|posz|
_times_lazy(e, m-1, n-1, seq, pos2,




try_times & D HLER

def try times_lazy(e, m, n, def try _times(e, m, n,
I seq, pos, &block) seq, pos, &block)
yield pos if m <=0

yield pos if m <=0
end end

eI yield T3\ &I yield T2HHNED




otk EER

I'I1

/e

» L& EEMABIFETIEENHOIC

- try_times_lazy Tn =0 O&ZIC try 25
CHT &P E

SN WEDEIRE LIZ0EIER Y54 h

3 ) HY (M



